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The ICMSF spreadsheet: 3 graphs on top
- The probability density function of the log counts:

Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.80
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The ICMSF spreadsheet: 3 graphs on top

- The OC-curve for the proportion defective samples:

Operating characteristic curve for proportion
defective, with n=1 and c=0
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The ICMSF spreadsheet: 3 graphs on top

- The OC-curve as function of the log arithmetic mean:

Operating characteristic curve scaled to relate log
arithmetic mean count to m
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- The probability density function of the log counts
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- OC-curve for the proportion defective samples
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Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.80
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Probability density function (PDF) for log counts.
Distribution mean = 1.00 and sigma = 0.80
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Probability density function (PDF) for log counts.
Distribution mean = 1.00 and sigma = 0.50
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Operating characteristic curve for proportion

defective, with n=1 and c=0

Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.80
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Lot acceptance for Pd

P(accept)'
Pd N 10 % 90.0 %
actualPd 50.0 % 50.00 %
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Operating characteristic curve for proportion
defective, with n=2 and c=0
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Operating characteristic curve for proportion

defective, with n=3 and c=0
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Probability density function (PDF) for log counts.
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Operating characteristic curve for proportion Probability density function (PDF) for log counts.
defective, with n=5 and c=0 Distribution mean = 2.00 and sigma = 0.80
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Operating characteristic curve for proportion
defective, with n=5 and c=1
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Operating characteristic curve for proportion

defective, with n=5 and c=0

Probability density function (PDF) for log counts.
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Operating characteristic curve for proportion

defective, with n=5 and c=0
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Operating characteristic curve for proportion

defective, with n=5 and c=0
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Operating characteristic curve for proportion

defective, with n=5 and c=0
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Operating characteristic curve for proportion

defective, with n=5 and c=0

Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.80

Operating characteristic curve scaled to relate log
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Operating characteristic curve for proportion

defective, with n=5 and c=0

Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.20
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Operating characteristic curve for proportion

defective, with n=5 and c=0
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Operating characteristic curve for proportion Probability density function (PDF) for log counts.

Operating characteristic curve scaled to relate log
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INPUTS P({accept) N ALTERNATIVE n AND c P(accept) h
Lot acceptance for Pd mean 2.00 Computed 3.13 % mean 2.00 Computed 313 %
P(accept)' sigma ] 0.20] Desired 3.1258'% sigma 0.20 Target, left 313 %
Pd ) 10 % 59.0 % m 2 _ ) m h 2
actualPd 50.0 % 3.13 % n h 3 Find mean that gives n h 5 For any value of n
c ~ 0 desired P(accept) c ~ 0 and ¢ imputed find
the m that gives the
Find n that gives same P(accept) as
desired P(accept) the model on the
- or better (less)
Sandbox: for your own calculations
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2.00 log cfu/g




Operating characteristic curve for proportion
defective, with n=5 and c=0

Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.20

Operating characteristic curve scaled to relate log
arithmetic mean count to m
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Operating characteristic curve for proportion
defective, with n=5 and c=0

Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.20

Operating characteristic curve scaled to relate log
arithmetic mean count to m

A

\

P(accept)

o
]
=]

=
o
o

AN
o~

o
(=]
o

0.20

0.40 0.60 0.80 1.00

Proportion defective

250

2.00

1.50

1.00 \

|
0.50 [ \
0.00 j \

50 40 -30 -20 10 00 10 20 30 40 50

Log count/g

——FPDF ——m

1.00

0.80 ‘\

0.60

0.40

P(accept)

0.20

PO T, el

0.00 . . . ‘ ‘ . A
50 40 30 20 10 00 10 20 30 40 50

Log (arithmetic count/qg)

Prob. acceptance m eeeese altemative |

INPUTS

c 0

Food lot

Sampling plan




Operating characteristic curve for proportion
defective, with n=5 and c=0

Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.20

Operating characteristic curve scaled to relate log
arithmetic mean count to m
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Operating characteristic curve for proportion
defective, with n=5 and c=0

Probability density function (PDF) for log counts.
Distribution mean = 2.00 and sigma = 0.20

Operating characteristic curve scaled to relate log
arithmetic mean count to m
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Probability density function (PDF) for log counts.
Distribution mean = 1.90 and sigma = 0.80
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——PDF ——m
INPUTS P(accept) |
mean 1.90 Computed 5.00 %
sigma 0.80 Desired | 5]%
‘ | |
m 2
n h 5 Find mean that gives
c ~ 0 desired P(accept)

Find n that gives
desired P(accept)
or better (less)

P(reject) 95.00 %




Probability density function (PDF) for log counts.
Distribution mean = 1.90 and sigma = 0.80

Probability density function (PDF) for log counts.
Distribution mean = 0.15 and sigma = 0.80
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mean 1.90 Computed 5.00 %
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n h 5 Find mean that gives
c ~ 0 desired P(accept)

Find n that gives
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or better (less)

P(reject) 95.00 %
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‘ | ]
m 2
n A 5 Find mean that gives
c “ 0 desired P(accept)

Find n that gives
desired P(accept)

or better (less)

P(reject) 5.00 %




Conclusions

The ICMSF tool can illustrate and calculate all
kinds of effects of variables both graphically as
well as numerically
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